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* AAHESY |YAHIEY 76,056,000 76,056,000 0.0%| At HI jellalsli =20 S 1,212,115,170 1,193,943,570 -18,171,600 -1.5%
Sl a4 AR =Y Jl22gdl S 2,560,000 2,560,000 0 0.0%
Bx24e = 1,291,791,680 1,285,177,550 -0.5% 23l odl S 96,159,590 94,411,590 -1,748,000 -1.8%

S+ NE=AZ 13,000,000 13,000,000 0.0%| M &= A H| Al & HI Al &8I 0 0 0
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ofidlgl & JIEk olgigl & JIEet ol S 655,000 179,660 -475,340 -72.6%
g A 1,513,927,680 1,504,374,670 -0.6% g A 1,513,927,680 1,504,374,670 -9,553,010 -0.6%
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52,000,000 53,800,000 1,800,000
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-2 S| 36,4343+14%H=510,080&
of 29 AH AN a2s ' ’
(eaa] 294l M A A4 A 102,281,920 105,863,850 3,581,930 _=wmo 22 3730020145 «05=1 044,400
—-2tAlH] 1,700,000
-ME & MYl 3,539,370
+=2J| 23| +=8J| 23 4,800,000 4,800,000 O|-M&a 0|82 2HREE 100,000%12& x441=4,800,000&
]| I =4l 0 0 0
Eg8 a4l Eg34Hl 0 0 O|MAIHI = At
24| 2| 4,800,000 4,560,000 -240,000| ™ 2| 380,000+12&=4,560,000&
-0I=0 AHIAEFLHl 100,000x7&=700,000¥
o2 Hl ol 24l 4,000,000 3,500,000 -500,000]|-0lE¢! A22H&H| 1,200,000&
-0l &0l 2+ eld| 1,600,000 (BX3 Ate)
=294l AH 115,881,920 118,723,850 2,841,930
-1:1 HIOIME Z2 208 5,840,000
(2x=25,000,000+ A2 & 840,000)
e _ _ -AEMEXIR 1,400,000
=2 S (] 2| [=a| (o] 2| S (o] ’ ’
A HE AL K HE AL I AEME AIS I 10,840,000 10,840,000 OFEAEI12 50 000%103] = 500,000
O Jt23t & 60,000%153] = 900,000)
-yelzgs 150,000%12&*2J4 71 &5=3,600,000&
TEME ArZHl A 10,840,000 10,840,000 0
-0l &2 XXIAA3 25,000%43/=100,000&
21 T2 ALOS -sdlAtg 2tED1 100,000%10%= 1,000,000&
PAR=PAR-=PN el 2,290,000 2,290,000 2,290,000 _xopi=9)| 590.000%!
ol Tl Ao o Tl A o -0l=XI& 50,000%123/=600,000&
OIAXI A0l EhArS I 2,140,000 2,140,000 O[-BALAG QA WS 1,110,000&
-QIAXIZ 039 75,0002 %45]=300,000&
A X Z AL 2,000,000 2,000,000 O[-&exE X2+ & &4l 2,000,000
A KA Bl A 6,430,000 6,430,000 0
-Ji25el T2 7,000,000&
oy AET| < -sdlAtEa HAELD| 30,000%158%235=900,0002
SEHIMEE X A 9,788,000 9,788,000 0 _ouUZEDBY S 400.000%44=1.600,0009!
ot ot ~NSGA)] T2 4,000%12Ex635]=288,000
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JITT AT AT = Ul T AT AT = Ul _
31X (30 21) 30,000+30%=900,0008!
4= X2 AHIA 21 &8 2,000,0002
8,500,000 8.500.000 K-t 10,000-30%=
O ABIA 2el
EENETIES] 13,288,000 13,288,000 0
-28 X 4SS S 1,200,000
cazoney  |eazou 2,100,000 2,100,000 0 2l 300,000 i
- oij/\—i A F01%iLiss) 100,000% 631=
300,000 300,000 0 =2 300,0002
EEEENETIES 2,400,000 2,400,000 0
_ zso3s o2 _
asead Al |3han 13,000,000 13,000,000 o|zEmas Zeae N A
2038 T2 AT ALY A0 13,000,000 13,000,000 0
2228 NAM |neoog 1o
Z=233 NN A 0 0 0
ARl 3 161,839,920 164,681,850 2,841,930
EINES e aNE NS 1,000,000 1,000,000 0
NE 20 1,000,000 1,000,000 0
NE 1,000,000 1,000,000 0
CEEIERL o
o Glblel 2 olE |lslel il bl 639,000 5,150 ~633,850
urets e 16,000 174,510 158,510
(EEEEEES 655,000 179,660 ~475,340
IEEEIEE 655,000 179,660 ~475,340
= A 1,513,927,680 1,504,374,670 (9,553,010)
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